

TYPE of Treatment	Duration	Price	Disc %	Compare Diff	f Source
MASSAGES Standard					
Head, Neck, Shoulder Massage	30 Min	£30	100.00%	£30	£0 N/A
Back & Shoulders or Lower Limbs	30 Min	£30	100.00%	£30	£0 N/A
Sports Massage for specific condition by Steve	30 Min	£30	100.00%	£30	£0 N/A
Swedish Massage Full Body(Jana only)	50 Min	£40	100.00%	£40	£0 N/A
Sports Massage Full Body (Steve Only)	50 Min	£35	100.00%	£35	£0 N/A
AntiCellulite, Lymphatic Drainage					
Lymphatic Antocellulite Massage Legs	30 Min	£30	100.00%	£30	£0 N/A
Lymphatic Antocellulite Massage Full Body	50 Min	£40	100.00%	£40	£0 N/A
MASSAGES Deluxe					
Aromatherapy Massage	30 Min	£30	100.00%	£30	£0 N/A
Aromatherapy Massage	50 Min	£40	100.00%	£40	£0 N/A
Honey Massage Detox & Uplifting	30 Min	£30	100.00%	£30	£0 N/A
Honey Massage Detox & Uplifting	50 Min	£40	100.00%	£40	£0 N/A
Chocolate Massage	30 Min	£30	100.00%	£30	£0 N/A
Chocolate Massage	50 Min	£40	100.00%	£40	£0 N/A
Hot stone Massage	30 Min	£30	100.00%	£30	£0 N/A
Hot stone Massage	50 Min	£40	100.00%	£40	£0 N/A
MASSAGES Spine & Spiritual					
Dorn Method Massage Gentle Joint Manipulation esp. spine	30 Min	£30	100.00%	£30	£0 N/A
Breuss Massage, compliments Dorn method; spiritually uplifting	30 Min	£30	100.00%	£30	£0 N/A
Foot Massage					
Foot Massage & reflexology	30 Min	£30	100.00%	£30	£0 N/A
Foot Massage & reflexology	50 Min	£40	100.00%	£40	£0 N/A
Unique Massages By Husband & & Wife					
FOUR H& massage	60 Min	£80	100.00%	£80	£0 N/A
COUPLES Massage	60 Min	£90	100.00%	£90	£0 N/A
Pamper therapy; combine multiple treatments 15% discount			100.00%		



Duration	Price Disc %		Compare Diff	Source
60 min	£40	100.00%	£40	£0 N/A
20 min	£35	100.00%	£35	£0 N/A
20 min	£20	100.00%	£20	£0 N/A
30 min	£25	100.00%	£25	£0 N/A
30 min	£25	100.00%	£25	£0 N/A
30 min	£30	100.00%	£30	£0 N/A
45 min	£35	100.00%	£35	£0 N/A
45 min	£40	100.00%	£40	£0 N/A
45 min	£40	100.00%	£40	£0 N/A
30 min	£25	100.00%	£25	£0 N/A
		100.00%		£0 N/A
20 min	£15	100.00%	£15	£0 N/A
20 min	£14	100.00%	£14	£0 N/A
30 min	£20	100.00%	£20	£0 N/A
				£0 N/A
45 min	£40	100.00%	£40	£0 N/A
60 min	£40	100 00%	£40	£0 N/A
				£0 N/A
15 min	£20	100.00%	£20	£0 N/A
	60 min 20 min 30 min 30 min 45 min 45 min 20 min 20 min 30 min 45 min 45 min 45 min 45 min 45 min 45 min 40 min 60 min 40 min 40 min 45 min 75 min 75 min	60 min £40 20 min £35 20 min £25 30 min £25 30 min £35 45 min £40 45 min £40 30 min £25 45 min £40 45 min £15 20 min £15 20 min £14  30 min £20 30 min £20 45 min £40 60 min £40	20 min £35 100.00% 20 min £20 100.00% 30 min £25 100.00% 30 min £30 100.00% 45 min £40 100.00% 45 min £40 100.00% 45 min £35 100.00% 20 min £15 100.00% 20 min £14 100.00% 30 min £20 100.00% 45 min £40 100.00% 60 min £40 100.00%	60 min £40 100.00% £40 20 min £35 100.00% £35 20 min £20 100.00% £25 30 min £25 100.00% £25 30 min £30 100.00% £30 45 min £40 100.00% £40 45 min £35 100.00% £35 20 min £15 100.00% £35 20 min £14 100.00% £15 20 min £14 100.00% £14  30 min £20 100.00% £15 20 min £14 100.00% £40  60 min £40 100.00% £40

TYPE of Treatment	Duration	Price	Disc %	Compare	Diff	Source
HAIR REMOVAL (Waxing & Shaving)						
Facial Waxing						
Wax Eyebrow	10 min	£10	100.00%	£12	£2	Barebodies
Waxing Nostrils	10 min	£10	100.00%	£12	£2	Barebodies
Waxing Ears	10 min	£10	100.00%	£12	£2	Barebodies
Wax Lip	10 min	£10	100.00%	£10	£0	N/A
Wax Chin	10 min	£10	100.00%	£10	£0	Barebodies
Wax Chin & Lip	15 min	£15	100.00%	£20	£5	Barebodies
Wax face (eyebrow, chin, lip)	30 min	£30	100.00%	£36	£6	Barebodies
Upper Bady Waying	Duration	Drice	<b>D</b> : 0/	Compore	D:tt	
Upper Body Waxing	Duration			Compare		Source
Wax Chest	20 min	£20	100.00%			Barebodies
Wax Abdomen	20 min	£20	100.00%			Barebodies
Wax Chest & Abdomen	35 min	£35	100.00%			Barebodies
Wax Upper back & shoulders	15 min	£20	100.00%			Barebodies
Wax Full back & shoulders	40 min	£40	100.00%			Barebodies
Wax shoulders	15 min	£15	100.00%			Barebodies
Wax Small of back	15 min	£15	100.00%			Barebodies
Wax back	30 min	£30	100.00%			N/A
Wax chest & back	30 min	£35	100.00%	£35		N/A
Wax chest, back & shoulders	55 min	£55	100.00%	£55	£0	N/A
Wax forearms	20 min	£20	100.00%	£20	£0	N/A
Wax full arms	30 min	£30	100.00%	£30	£0	N/A
Wax under arms	10 min	£10	100.00%	£10	£0	N/A
Wax arms inc shoulders	45 min	£45	100.00%	£45	£0	N/A
Wax H&s	10 min	£10	100.00%	£10	£0	N/A
Wax Feet	10 min	£10	100.00%	£10	£0	N/A
Wax arms, shoulders, abdomen, Chest, Back, Buttocks	120 min	£120	100.00%	£143	£23	Barebodies
Lower Body Waxing	Duration	Price	Disc %	Compare	Diff	Source
Partial leg Waxing (Upper legs)	20 min	£15	100.00%	£15	£0	N/A
Wax full legs	30 min	£30	100.00%	£30	£0	N/A
Wax H&s or feet	10 min	£5	100.00%	£5	£0	N/A
Waxing Intimate (men / women)	Duration	Price	Disc %	Compare	Diff	Source
Wax buttocks & Butt Crack Men or Ladies	25 min	£25	100.00%	£37	£12	Barebodies
Waxing Sac & Penis Men	30 min	£30	100.00%	£43	£13	Barebodies
Waxing Sac,Penis,Pubic <b>Men</b>	35 min	£35	100.00%	£53	£18	Barebodies
Waxing Sac,crack, Penis,Pubic <b>Men</b>	40 min	£40	100.00%	£60	£20	Barebodies
Waxing Back, Sac,crack, Penis,Pubic BSC/Manzillian	50 min	£50	100.00%	£65	£15	Barebodies
Whole Body Waxing except legs, chest, abdomen Men	75 min+	£75	100.00%	£78	£3	Barebodies
Whole Body Waxing except legs & arms Men	85 min+	£85	100.00%	£90	£5	Barebodies
Wax speedo line Men	20 min	£20	100.00%	£20	£0	N/A
Whole Body Waxing <b>Men</b>	120 min+	£120	100.00%	£120	£0	N/A
Wax bikini line Ladies	20 min	£20	100.00%	£20	£0	N/A
Waxing Brazillian style (Strip left) Ladies	25 min	£25	100.00%			N/A
Waxing Hollywood (All hair removed) Ladies	30 min	£30	100.00%			N/A
Whole Body Waxing Ladies	90 min+	£90	100.00%			N/A
BODY ART DECORATION						
Manjazzling / vagazzling (Intimate decoration) from	45 min	£20	100.00%	£20	£0	N/A

## **Price List**



	Duration	ration Price Disc %		Compare	
EYES					
Eyelash Tint	15 min	£10	100.00%	£10	£0 N/A
Eyebrow Tint	15 min	£10	100.00%	£10	£0 N/A
Eyelash & Eyebrow Tint	15 min	£10	100.00%	£10	£0 N/A
Eyebrow Shape, depilation, dye	15 min	£10	100.00%	£10	£0 N/A
Eyelash & Eyebrow Tint, Shape, depilation, dye	15 min	£10	100.00%	£10	£0 N/A
Party Eyelashes					
Full Set of Party Cluster Lashes	45 min	£20	100.00%	£20	£0 N/A
Removal of lashes	15 min	£10	100.00%	£10	£0 N/A
Facial Treatments					
Eye mask regenerative anti-wrinkle	20 min	£12	100.00%	£12	£0 N/A
Anti-stress facial treatment & cleavage	70 min	£30	100.00%	£30	£0 N/A
DELUXE complete treatment & cleavage	90 min	£45	100.00%	£45	£0 N/A
DELUXE treatment Galvanic Iron - anti wrinkle	45 min	£25	100.00%	£25	£0 N/A
Face massage with cosmetic treatment	45 min	£25	100.00%	£25	£0 N/A
Facial with mask & Herbal cream	1 Hour	£30	100.00%	£30	£0 N/A
Make-up (prices from)	30 min	£20	100.00%	£20	£0 N/A

## **Price List**

TYPE OF TREATMENT PERSONAL HEALING THERAPY	Duration	Price Disc %	Compare	
Self-esteem / Counselling	60 min	£30 100.00%	6 £30	£0 N/A
Chakra balancing	60 min	£30 100.00%	6 £30	£0 N/A
Meditation / Relaxation	60 min	£30 100.00%	6 £30	£0 N/A

	Short Prices List Version  TYPE of Treatment REMOVAL (Waxing & Shaving)	Duration	Price	Disc %	Compare	
Facial Waxin		40.	0.4.0		0.4.0	
Wax Eyebrow	I	10 min	£10	100.00%		£2 Barebodies
Wax Lip		10 min	£10	100.00%		£0 N/A
Wax Chin		10 min	£10	100.00%		£0 N/A
Wax Chin & L	•	15 min	£15	100.00%		£5 N/A
Wax shoulder		15 min	£15	100.00%		£2 waxstudio
Wax under ar	ms	10 min	£10	100.00%	£10	£0 N/A
Wax arms inc	shoulders	45 min	£45	100.00%	£45	£0 N/A
Wax Chest		20 min	£20	100.00%	£23	£3 N/A
Wax back		30 min	£30	100.00%	£30	£0 N/A
Wax chest &	back	30 min	£35	100.00%	£35	£0 N/A
Lower Body	Waxing					
Partial leg Wa	axing (Upper legs)	20 min	£15	100.00%	£15	£0 N/A
Wax full legs		30 min	£30	100.00%	£30	£0 N/A
Waxing Intim	nate (men / women)					
Wax buttocks	& Butt Crack Men or Ladies	25 min	£25	100.00%	£37	Barebodies
Wax bikini or	speedo line	20 min	£15	100.00%	£15	£0 N/A
Waxing Brazi	llian style (Strip left) Ladies	25 min	£28	100.00%	£28	£0 N/A
_	wood (All hair removed) Ladies	30 min	£28	100.00%	£28	£0 N/A
Waxing Holly	wood (All hair removed) Men BSC	45 min	£50	100.00%	£50	£0 N/A
Waxing Holly	wood (All hair removed) Men BSC	45 min	£50	100.00%	£50	£0 N/A

https://flawlessluxe.co.uk/male-waxing-coventry/

https://thewaxstudionuneaton.co.uk/male-waxing/

Barebodies

lotushealthandbeauty